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(Hint : first  find k where  a = kxy )

1. A cake's cost varies jointly with the cake's thickness (T) and the square of it's radius (R). A cake 3 inches thick with a radius of 4 inches costs $7.20. What would be the cost of a cake that is 4 inches thick with a radius of 5 inches?
2. What if the cake was 6 inches thick and had a radius of 7?
3. What if the cake was 2 inches thick and had a radius of 3?
4. What if the cake was 6 inches thick and had a radius of 6?
5. What is the thickness of a cake costing $12.00 with a radius of 4 inches?

6. What is the radius of a cake costing $25 with a thickness of 6 inches?

7. What is the thickness of a cake with a cost of $15 and a radius of 7 inches?  

8. The Cost C of printing a magazine is jointly proportional to the number of pages p in the magazine and the number of magazines printed. 

If the printing cost is $60,000 for 4000 copies of a 120 page magazine find the cost to print 2000 copies of a 9 page magazine. 


9.  If the printing cost is $60,000 for 4000 copies of a 120 page magazine find the cost to print 2000 copies of a 9 page magazine. 


10.  The cost to print 5000 copies of a 20 page magazine. 
11.  The cost to print 200 copies of a 50 page magazine. 
12.  The cost to print 750 copies of a 10 page magazine. 
13. The number of copies if the cost is $10,000 and there are 200 pages?
14. The number of pages if the cost is $625 for 10 copies?

15.  The number of copies for a 50 page book at a cost of $1875?

16. Given that z varies jointly with respect to y and v, and that z = 60 when y = 5 and v = 6, 

   find y when z = 18 and v = 3. 

17. Given that v varies jointly with respect to d and e, and that v = 64 when d = 4 and e = 4, 

find v when d = 5 and e = 2.

18.  Given that d varies jointly with respect to z and b, and that d = 96 when z = 6 and b = 4, 

find z when d = 60 and b = 3.

19. Given that c varies jointly with respect to y and w, and that c = 60 when y = 3 and w = 5, 

find w when c = 24 and y = 2. 

20. Given that c varies jointly with respect to y and the square of w, and that c = 60 when y = 3 and w = 2,

 find y when c = 270 and w = 3. 

21. Given that g varies jointly with respect to b and the square of u, and that g = 720 when b = 5 and u = 6, 

find b when g = 200 and u = 5.

22. Given that w varies jointly with respect to e and d, and that w = 60 when e = 2 and d = 5, 

find w when e = 6 and d = 5.

23. Given that v varies jointly with respect to b and w, and that v = 12 when b = 2 and w = 3, 

find w when v = 16 and b = 2.

